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()

4°C  760mmHg

86400
MKS  (Meter, Kilogram,
second) MKS CGS
FPS  (Foot, pound, second) 3
3
M.K.S (m) (ka) S
C.G.S (cm) () S
E.PS (ft) (Lb) ©

1m=100cm=3.3ft 1kg=1000g=2.2Lb

/ 4 M.K.S CGS
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M.K.S. C.Gs
m cm
Kg 9
e Sec
M2 cm?
me cm®
/ m/sec cnvsec
/ kg/n?® / glen®
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(M.K.S)
(Current) I (Ampere) A
V,E (Volt) Y,
(electromative force)
(electric charge) Q (Coulomb) C
(electric energy) W (joule) J
(resstance) R (ohm) Q
(conductance) G (mho) L
(inductance) L (henry) H
(power) P (Wett) w
(magnetic flux) () (Weber) Wb
B | ?(Weber/m®)|  Whb/m?
(magnetic flux dengty)
(frequency) (hertz) Hz
(capacitance) C (farad) F
+
(Tera) T 107
(Giga) G 10°
(Mega) M 10°
(Kilo) K 10°
(Centi) C 10
(milli) m 10°
(micro) m 10°
(nano) n 10°
(pico) p 10"

1. 3KV=3x10°V=3000V

2. 6MQ= 6x10° Q =6000000Q

3. 5mA=5x10° A=0.005A
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1 24

1 =60 | = 9 = E = 0.04(A) = 40mA

t 60
QC =1 )t( )

2 5A 2

2 =2x60x60=7200

Q=1 -t =5x 7200 = 36000(C) = 36x 10°(C)
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(Electronmotive force)
E (V) 1
@ (b) 1
1 1
w(C )
E=V, =V, -V =
ab a b Q( )
1 6 a b 300 ab
W 300
Va =5 = = 50)
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110V
110v
2 Va Vb
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1
F=K -—Ql'ZQ?
d
1
F( ) | K( Q( ) da( )
M.K.S. (nt) 9x10° (@) (m)
C.G.S (dyne) 1 (SO (cm)
w1 =10
21  =3x10°
A F F
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w( )=Q( )E
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w( )=IC )-t( )-E

1ov

E=110V  1=20A
P= |- E=20x110=2200(W)=2.2(kw)
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( 110V 220V)

w( )=pP( )t

1 =1 1 (IKWH)
=1000 (W) - 3600 (5)
=3.6x10° ()

200W
500W 200W 3
(30 )

P=200+300+500+200=1200W=1.2KW

t=3

W=P- t=1.2 x 3=3.6 (KW-H)
3.6x5x30=540
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R=p —
PA
R= ()
L= ( )
= ( )
p= ( rho)
2
20
2 9.0x10°
R:/O‘£=9.O><1078><L74
A 2x2x10

Q)
(m)
(m’)
(Q-m)
20°C
2x2 20°C

=9.0x10°%x0.5x10™* = 4.5x107*(QQ)
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20°C

1.6x10°

1.7x10°8

2 4x10°

28x10°

4.6x10°

6.0x10°

7.8x10°

9.0x10°®

9.7x10°

10.0x10°8

115x10°

45x10"

20x10°

1.0x10%

50x10™

1.0x10%°

7.0x10"
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100%

105%

100%

71.6%

61%

45%

32%

17.2%

16.4%

15.1%

8.4%

1.8%

1.6%

0.04%
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H=12.R-t
() (C. G. Sunit)
1 14.5°C
1 1°C
1 (J)=024 (Cd)
1.

H =02412.R-t (Cd)

H I R
\Yj
2. ==
( R)
H=0.241%-R-t
=0.241 -V -t
2
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R
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15.5°C
1 (Caorie, Ca
(Cal)=4.186 Q)
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200 110V
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H =0.24x 110
20

x (20x 60 )

=0.24x605x1200
=174240 (Cal)

60 8A 3

H=024-1>-R-t
=0.24x8*%x6x(3-60 )

=0.24x64x6x180
=16588.8 (Ca)
(British Thermal Unit , B.T.U)
1 (1b) 63°F 64°F
1°F 1B.T.U

1B.T.U=1(1b) - I°F
-
= 453,69 % C= 453,69 x5/9°C

= 252 (Cal)
= 1055 (J)
(ft-1b)  1ft-1b=1.355J
1 BTU= 1055/1.355=778ft-1b
778 - /BTU
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